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EECS70A Spring 2010 Midterm Exam #1

4/13/2010 8:00 to 9:20 am
Professor Peter Burke

PROBLEM ONE: (20 points)
Solve for Reg.
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PROBLEM TWO(35 points):

Find V, through V, and i; through i; in the circuit below.

Lt ¥ (3 =0 V= IR
y+ 5At -TA= 0 Vs SA-2p =10V
[ =2A V,: 2A-SRT oV
L= 5A Wy “Heta A
3= -7A
Vgs 5A- 30 ° 5V
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PROBLEM THREE(25 points):

Find V, , Va, i}, and i,. Be careful about the sign!

Name:
ID no.:

KeL@ node @ ¢
| A +2A14A 1 8A =

[i,- 158 |

Kel @ mode b

Lz

z'z = Lt 13A+ U
= SA +13A +

Y

V= k-1, = Ikad-34)
= -3&¥ |
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= Jokn-15A = g/SOKVZ

A
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PROBLEM FOUR(20 points):
In the circuit below, the wiper divides the potentiometer resistance between a 5 Q and (1-a) 5 €2,

where 0<a<1. Find the power dissipated in the 10 Q resistor as a function of a.

10 Q

10V

a5Q)

r o i AL

R 10 + (1=a)5n

P- 1%R
2 TR s
;?an, 2 ks ﬂ)' 101
100+ (1-9)5

whoe 0< 9< /]
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